
 𝑟 𝑉 =
1

3
𝜋ℎ𝑟2

𝑉 =
1

3
𝜋ℎ𝑟2 ⇔ 3𝑉 = 𝜋ℎ𝑟2 ⇔

3𝑉

𝜋ℎ
= 𝑟2 ⇔ 𝑟 = √

3𝑉

𝜋ℎ

±

𝑟

 𝑏 = 44376

𝑎 = 1000

𝑓(𝑥) = 1000𝑥 + 44376

𝑓(𝑥) 𝑥,

2017

 

𝑑 = 𝑏2 − 4𝑎𝑐 = 42 − 4 · 1 · (−21) = 16 + 4 · 21 = 16 + 84 = 100 = 102

𝑥 =
−𝑏 ± √𝑑

2𝑎
=

−4 ± √102

2 · 1
=

−4 ± 10

2
= {

−4 + 10

2
= 3

−4 − 10

2
= −7

𝑥 = −7 ∨ 𝑥 = 3

 

𝑘 =
|𝐴𝐵| + |𝐴𝐴1|

|𝐴𝐵|
=

3 + 1

3
=

4

3

|𝐴𝐶|

|𝐴𝐶| =
|𝐴1𝐶1|

𝑘
=

8

4/3
=

8 · 3

4
=

24

4
= 6



 

𝑘 𝑘 ∈ ℝ

𝐹(𝑥) = ∫ 𝑓(𝑥) 𝑑𝑥 = ∫ (
1

𝑥
+ 𝑥4 + 7) 𝑑𝑥 = ln(𝑥) +

1

5
𝑥5 + 7𝑥 + 𝑘, 𝑥 > 0

 

𝐴 = 𝑥 · 𝑦

𝑥 = 2 𝑦 = 12 𝐴 = 2 · 12 = 24

𝑦 = 8 𝐴 = 24 𝑥

24 = 𝑥 · 8 ⇔ 𝑥 =
24

8
= 3

𝑥 = 6 𝐴 = 24 𝑦

24 = 6 · 𝑦 ⇔ 𝑦 =
24

6
= 4

𝑥 2 3 6

𝑦 12 8 4



 

 

𝑟 = 𝑎 − 1 = 1.0749 − 1 = 0.0749 = 7.49%

 



 𝑥 = 35

19.95

 𝑓′ 𝑥 = 35

0.0925

 

𝑥 −1.707 −0.293

𝑓′(𝑥) + 0 − 0 +

𝑓(𝑥) ↗ → ↘ → ↗

 𝑓(𝑥) ] − ∞; −1.707] [−0.293; ∞[

 𝑓(𝑥) [−1.707; −0.293]



 𝑔

 𝑓(𝑥) = 𝑔(𝑥)



 𝐶

sin(118)

15.3
=

sin(𝐶)

6.5
⇔ sin(118) · 6.5 = sin(𝐶) · 15.3 ⇔ 

sin(𝐶) =
sin(118) · 6.5

15.3
⇔ 𝐶 = sin−1 (

sin(118) · 6.5

15.3
) ≈ 22.031𝑜

 𝐴

𝐴 = 180𝑜 − 𝐵 − 𝐶 = 180𝑜 − 118𝑜 − 22.031𝑜 = 39.969𝑜

 |𝐷𝐶| 𝐴𝐴𝐷𝐶 = 39.969𝑜/2 =

19.9845𝑜 𝐷

𝐷 = 180𝑜 − 𝐴𝐴𝐷𝐶 − 𝐶 = 180𝑜 − 19.9845𝑜 − 22.031𝑜 = 137.9845𝑜

𝐷𝐶

sin(137.9845)

15.3
=

sin(19.9845)

|𝐷𝐶|
⇔ 

sin(137.9845) · |𝐷𝐶| = sin(19.9845) · 15.3 ⇔ 

|𝐷𝐶| =
sin(19.9845) · 15.3

sin(137.9845)
= 7.812

|𝐷𝐶|

 4000𝑚2 1000𝑚2

𝑥 ℎ

1000 = 𝑥 · ℎ ⇔ ℎ =
1000

𝑥

𝑂 = 2𝑥 + 2ℎ 4𝑂 = 4 ·

(2𝑥 + 2ℎ) = 8𝑥 + 8ℎ

3ℎ 𝑂mark = 𝑂 − 3ℎ = 8𝑥 + 8ℎ −

3ℎ = 8𝑥 + 5ℎ

ℎ ℎ

𝑓(𝑥) = 8𝑥 + 5 · (
1000

𝑥
) = 8𝑥 + 5 ·

1000

𝑥



 𝑓(𝑥)

𝑓′(𝑥) = 8 − 5 ·
1000

𝑥2

𝑓′(𝑥) = 0 10 < 𝑥 < 50

8 −
5000

𝑥2
= 0 ⇔ 8 =

5000

𝑥2
⇔ 8𝑥2 = 5000 ⇔ 𝑥2 = 625 ⇔ 𝑥 = 25

𝑓′′(𝑥) =
10000

𝑥3

𝑓′′(25) =
10000

253 = 0.64 𝑓′′(25) > 0

𝑥 = 25

 

 𝑘



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


